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Candidates are required to give their answers in their own
words as far as practicable.
The figures in the margin indicate full marks.

Group-A

Answer any four of the following questions :

1.

2.

What does skill mean? Why do we need skills?

5x4=20

2+3

Why are soft skills more important than technical skills? Why is time management an

essential skill?

Highlight the importance of ‘training’ in vocational skill development.

2+3

5

How does government support entrepreneurship? Why is self-employment so important?

3+2

What are the safety measures in industries? How would you set up a self-help group?

25 +2Ys
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6. How does a country’s economy benefit from cottage industry? What are the government
programs to assist enterpreneurs? 2+3
Group-B
Answer any two of the following questions : 10x2=20
7. Critically discuss microfinancing with special reference to self-help groups. How would
you train soft skills in the work place? 7+3
8. What strategies would you use to manage your time? How would you develop team
working skills? What are the components of mentoring? 3+3+4
9. What is the benefit of Vocational Programmes? What is the importance of internship?
What is Pradhan Mantri Kaushal Kendra? 3+3+4
10. What are ways adopted by government to promote entrepreneurship in India? What
type of investment is required in cottage industry? What is one major problem with
the cottage industry? 4+4+2
e+
R 5177 ATHR TR e ¢ @x8=30
S| wEe wif 52 SN THROR ATIG (& 2 2 349
3 AYfGae TR (AF 99N wwel @ ewgld (@ RN Wt ¢ @ 9F
PRSI TS TE 2F 2 +9
o e wFel Jad (Fla AR @ KA Sl we | @
81 FETHE (& TR FOIT AN I 2 WY FORZ 9T SPGa (Fe ? o+3
¢ Tare fomierel sfamisiafs & 52 o e ot -2 eish afon s
33+3%
vl el R (T (TR SIS RReitd Sege 20a e [ & Rl SR Srie it el

PI? NS




(3)

T«

@ 710 ATHF TR W€ 2

Al FWST (P SN 2hTes Fw ST [ [eagei seEna st |

b |

YOX=30

9+9

CONIR R (T 2IABIET T 9 & (FET G2 T ? BTl IS T WOl

il [Fea TFe FAd? (TolR @7 Tomle & 52

O+H90+8

> JeE sffsmielm Sasifrel e THrMR e 52 damwg @ E @@ 52

O+H9O+8

so| CRTe ey THE T FIFE AR 2 THARSHT (@0l | wenl s [ e [

ATAGT 2 9o PIE 0% TifFe @6 7w Tt 52

8+8+3




